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Answer eith
1x10=10

1. Answer the following questions :

WWWW

(g What is cardinal utility?
ST Sercafaret 2
hat is the marginal rate of substitution
between two perfectly substitute goods?
i1 opf et TR oo i ofewss T 9
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(2)

‘(y Define income effect.

o R siger | e, TR T -

L ou @t tedupn upe TN 1OuaIl B

@/What is meant by a person be ‘risk
averse’?

e s T g’ T w2

(e) Why is the average fixed cost curve
rectangular hyperbola?

M &9 T @3 SRS sRige 5y =00
(/’ When is the long-run average cost curve
P L-shaped?
v RIFIRT 9T T (@18 oA L-wpfeq =3 2

sl o b

\

(9) What is production function?
ST o 13 2

y Define expansion path.
TEPIR “{9] sigeal fan |

\-{U/State the concept of shutdown point of a
~ firm.

bl BeofIel e R 4 S <4 |

(i) ~Define opportunity cost.
: TN IR i foay |

22A/39 ( Continued )

(3)

2. Write short answers of the following
questions : 2x5=10
o 2S5 Tad i

‘-Mhat is meant by slope of a budget line?
AqCEH ([ GO e Je 16 @M T2

(b) Distinguish between gross demand and
/ net demand.

o BIfRA S 9 DIRRA e A1 e 9 1

(c)~ What are short-run and long-run costs of
production?

ZEFIa S TEIAN SReTE T e 2

(d) Establish the relationship between total
utility and marginal utility.
35 ToIfel S e SARIPOR Ao o
EdgCRaIl

ﬁ/State the concept of optimum firm.
7 o AR 4ReT SeE |

wer any four of the following questions :
gy #1 ! 5x4=20

e 2ERA R vifkeR Teq firm -

(@) ~What is inferior good? How is it different
from normal goods? Show it with the help

of indifference curves.
frge A 2 Fefie NS 2 (&FCME
ogae 7 FRCETE IR RS (TS |

( Turn Over )
22A/39



(4) (5) WA

3 ,{b)' Discuss how Slutsky equation explains /,(e}' “If there is free entry of new firms in the
the relationship between change in price - competitive industry, price must fall to
of a good and demand for it. the level of minimum long-run average

WeRE AN G ™9 “ifREEa e ik chat.& ool
er® Tofh AT %, S[carsl 47 | “effcafiorFre Towe W Tgq b e
9B, cofom v o IR s W @[
forrod Rwee ZF1 2R 17 0101 ¥4
(¢)” Suppose the purchase of a lottery ticket X .
is under consideration of an individual. JW/Give the VALOUS COLSER k50l production
Let the prize be & 5,000 which he will get costs in brief.
if he wins and suppose if he losses, he Bere 0Fd S 4RPTR LS w’
o Will get the consolation prize of ¥ 10.
¢! a;."_/t:'-\; F‘}lrther suppose that the probability of 4. Answer the following questions : 10x4=40
W his winning is 0-6. Find expected money S5 HTARA Ted il
i Value of lOTLt§I'y tlcket. {a) “Revealed preference - theory makes a
W@ RF o Jfeed Go1 #75RA B BT e major advancement in the theory of
Rew sz 1 3 afeec wwere @ (o demand.” Discuss. . s 10
5,000 531 “{FER AR W& M 2R, COF comp SR ©gOd kA REGR wie
10591 Fipef 3761 =1 1 w1 @1 2 @ s ‘ol A1 BT 17 ST 4 |
T FBRATS! 25 0-6. 1’51 BIHEBR oo Or / G<@l
41 =7 Sfere | Explain how indifference curve can be

derived using revealed preference theory.

(d) Define substitute and complementary 2P ST O RO S FRCFE @1

iacgoi'-s. Draw isoquants of perfect oA #f, 0 ¢
ubstitutes and perfect complements in i b
production. Give B el (b} How are average cost curve and marginal
/ cost curve derived from total cost curve?
wﬁﬁ jﬁi MR SerR sice fa 1 o R ik
E;ﬂfi‘wﬂwwwﬁ@mww: 5 T @R R A M6 T TN <A1
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(6)

Or / 941

What is meant by optimum factor
combination in production? Explain with
the help of isoquant and isocost lines.

2+8=10
I SAAMAT CHI6 e & T IR ST
[SEIRCIE S PR G EIEREILIVIC IR ST N
)" Explain the impact of change in rate of
interest on the consumers. Use
diagrams. 10
oSSR @oTS [ TR RIS FerR 41
391 | od I2R FAm | £,
Or / 941
Fill in the blanks in the following table :
3+3+3+1=10
O SIfeiEIa <1t SR e A :
Number of Total Marginal | Average
variable inputs output product product
ARqETT Seonr | enfe Ceorr | ore Eeomr
SR 31357 .t\igﬁ' Ty
3 6D 18 30
4 - 20 —
5 130 - —
6 — 5 —_
7 B - 1
195
22A/39 © P (Continued

(d)

(7))

Does the production function stated in
the table exhibit diminishing returns? If
so, at what number of units of the
variable input do diminishing marginal
returns begin?
@qe TrEy 9 OIFRITS TRPEH  SRATE
el 2 7 I W, (OB FHC ARTST
AR 69 2R TRPEA 2A1fEF SeAm 9IRS

xR ?

ritically discuss the law of variable

proportion.

10

sRgETE e RiEGT  SHEmAE e

CIGICRISSIN

What are
increasing,

Or / %41

isoquants?

Show the

constant and decreasing
return to scale through isoquants.

1+3+3+3=10

e @4 R TR @R ORRS
ZRAY, T T TP S k|

oifowTe (T84 |
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